Maharashtra University of Health Sciences, Nashik

Inspection Committee Report for Academic Year 2022 - 2023

Details of Library

Faculty: Library

Name of College/Institute: VSPM MADHURIBAI DESHMUKH INSTITUTE OF NURSING EDUCATION, NAGPUR

1	Total Books (Other than Book Bank scheme)	3755 Book Bank 194 =3949
2	Last year purchase	81 Books
3	Invoice & payment details	Books Invoice 094 Rs. 29,613.14
4	List of Journal subscribed year	National -24 International - 09
		Total -33 Journals

Dean/ Principal Stamp & Signature

Principal
VSPM Madhuribai Deshmukh
Institute of Nursing Education
Digdoh Hills, Nagpur.

S Plot No

S R PUBLISHERS & DISTRIBUTORS

Plot No. 544, New Mhalgi Nagar, Umred Road, Nagpur. (M.S.) Mob.No:- 9359060915, Email:- srpdngp@gmail.com

Ludeit

punchase order

INVOICE

THE DDINGIDAL

TO,

THE PRINCIPAL,
VSPM MADHURIBAI DESHMUKH INSTITUTE OF NURSING

EDUCATION,

DIGDOH HILLS, NAGPUR

Invoice No:-094

Date:-05/09/2021

No. of Parcel:- 02

Desp.By:-by hand

Order no & date:-

21-22/13 Date:28/08/2021

		GOC Rates as on JULY 2021 \$	= 77.2	0 £=	107.70	€ = 92.50)	
S.N.	AUTHOR	TITLE	CUR	PRICE	QTY	INR I	DISCT	NET AMOUNT
1	GOYAL	TB OF NURSING FOUNDATION	RS	950	2	1900	25	1425
2	KOZIER	FUNDAMENTALS OF NURSING 5TH ED	\$	78	1	6021.60	30	4215.12
3	MANIVANN AN	TB OF COMMUNITY HEALTH NURSING VOL.1	RS	750	2	1500	25	1125
4	MANIVANN AN	TB OF COMMUNITY HEALTH NURSING VOL.2	RS	450	2	900	25	675
5	ELAKUVANA	DEBRS MENTAL HEALTH NURSING	RS	975	2	1950	25	1462.50
6	TOWNSEND	PSYCHIATRIC MENTAL HEALTH NURSING	RS	2495	2	4990	25	3742.50
7	ANSARI	MEDICAL SURGICAL NURSING VOL 1 (A+B)	RS	2999	1	2999	20	2399.20
8	ANSARI	MEDICAL SURGICAL NURSING 2 (A+B)	RS	2999	1	2999	20	2399.20
9	LEWIS	MEDICAL SURGICAL NURSING 2 VOL SET 4TH EDITION	\$	81	1	6253.2	30	4377.24
10	GHAI	ESSENTIALS OF PEDIATRICS	RS	1160	3	3480	25	2610
11	MUSCARI	LIPPINCOTTS REVIEW SERIES PEDIATRIC NURSING 3RD EDITION	\$.	29.95	1	2312.14	30	1618.50
12	MAZUREK	EVIDENCE BASED PRACTICE IN NURSING & HEALTHCARE	\$	65.95	1	5091.34	30	3563.94

TOTAL	RS 19 40396.28	29613.20
	ROUND OFF	-0.20
	GRAND TOTAL	29613.00

Amount In Words-: RUPEES TWENTY NINE THOUSAND SIX HUNDRED THIRTEEN ONLY

Terms & Condition

- * We Certify that the Price (s) mentioned in the invoice are as per the Current Publisher Catalouge/ Invoice.
- * Books Once Sold cannot be taken back or exchanged in any case.

week.

* Outstation Payment Should be made by Bank Draft paybale at Nagpur.

* Subject to jurisdiction. Please issue all CHAQUES/DD in favour Of

" SR PUBLISHERS & DISTRIBUTORS"

Prepared By

Checked By:

for S R PUBLISH.

Be de

SR Publishers & Distributors
Plot No. 544, New Minager,
NAGPUR-440034 (M.S.)

VSPM Madhi Principal
VSPM Madhi Principal
Institute of Nusem Madhuribai Deshmukh
Digdoh Institute of Nursing Education
Digdoh Hills, Nagpur

date 20-10-801

Received

SECURITY DEPT.

In word No. 5857

Data: 20/10/24

In Tima: 16.20

Signature: 482 C

NKP SIMS & RC DIHILLS, NAGPUR.



VSPM

Madhuribai Deshmukh Institute of Nursing Education

Lata Mangeshkar Hospital, Digdoh Hills, Hingna Road, Nagpur-440019.

Ph.No. – 07104 – 665048, 665049, 244902 Fax No. – 07104-665011

Email – vspmmdine1995@gmail.com , vspmcon2005@vahoo.com

Sr. No.	Name of Journal - 2021	Indian/ Foreign	Periodicity
1	Nursing Research	Foreign	Bimonthly
2	American Journal of Nursing	Foreign	Monthly
3	Nursing Outlook	Foreign	Bimonthly
4	Nursing Forum	Foreign	Quarterly
5	Journal of Cardiovascular Nursing (New) (UGC Approved)	Foreign	Bimonthly
6	Asian Journal of Nursing Education & Research	Foreign	Quarterly
7	International Journal of Advances in Nursing Management	Foreign	Quarterly
8	International Journal of Nursing Education & Research	Foreign	Quarterly
9	British Journal of Nursing	Foreign	Fortnightly
10	Nightingale Nursing Times	Indian	Monthly
11	Indian Journal of Community Medicine	Indian	Quarterly
12	The Indian Journal of Medical Research	Indian	Monthly
13	Indian Journal of Practical Pediatrics	Indian	Quarterly
14	Indian Journal of Psychiatry	Indian	Bimonthly
15	Drug Today	Indian	Quarterly
16	Innovational Journal of Nursing and Healthcare (IJNH)	Indian	Quarterly
17	Indian Journal of Continuing Nursing Education (UGC Approved)	Indian	Half yearly
18	International Journal of Practical Nursing	Indian	Three Issue
19	Journal of Psychiatric Nursing	Indian	Three Issue
20	Journal of Geriatric Mental Health (New) (UGC Approved)	Indian	Half Yearly
21	Nursing Midwifery Research Journal (UGC Approved)	Indian	Quarterly
22	Indian Journal of Nursing Administration & Education	Indian	Half Yearly
23	Indian Journal of Obstetrics & Gynecology Research	Indian	Quarterly
24	International Journal of Community Health Nursing	Indian	Half Yearly
25	International Journal of Obstetrics, Perinatal & Neonatal Nursing	Indian	Half Yearly
26	International Journal of Pediatric Nursing	Indian	Three Issue
27	The Nurse	Indian	Bimonthly
28	The Nursing Journal of India	Indian	Bimonthly
29	Health Action	Indian	Monthly
30	T.N.A.I. Bulletin	Indian	Monthly
31	Indian Journal of Surgical Nursing	Indian	Three Issue
32	Journal of Community & Public Health Nursing	Indian	Three Issue
33	Journal of Nurse Midwifery & Maternal Health	Indian	Three Issue



VSPM

Madhuribai Deshmukh Institute of Nursing Education

Lata Mangeshkar Hospital, Digdoh Hills, Hingna Road, Nagpur – 440019 Ph.No - 07104 - 665048, 665049, 244902 Fax No. - 07104-665011

Email- <u>vspmmdine1995@gmail.com</u>, <u>vspmcon2005@yahoo.com</u>
Website: vspmmdine.edu.in

Sr.No.	Name of the Title	Figure
1	No. of books Purchase in Library Complimentary Books	3276 673 TOTAL = 3949
2	Total No. of Books Purchase Last Year	81
3	Total No. Circulated Books Last Year	2622
4	No. of Latest Edition Books	925
5	Reference Books	269
6	Text Books	3680
7	No. of Titles Books	2433
8	Total Journals	33
	National (Indian)	24
	International (Foreign)	09
9	Online Journals available	Yes
	a) <u>www.clinicalkey.com</u>	User ID - kadambari.saigal@ rediffmail.com
		Password - librarynkp
	b) www.muhs.ac.in	User ID-1502
		Password-nkpsimsrc2051
	C) Knimbus Digital Library	User ID - <u>vspmmdine1995@gmail.com</u> Password - nursinglibrary
10	Internet/ Photocopy facilities	Yes
11	Total Library Staff	02
а	Librarian	01
b	Asst. Librarian	01
12	News Papers available in the Library	03
а	The Hitavada (English)	
b	Dainik Bhaskar (Hindi)	
С	Lokmat (Marathi)	

13	Is the Library adequate in respect of Space & Furniture	Space Area 3200 Sq.ft.			
14	Students Capacity	100 U.G. Students 20 P.G. Students			
15	Is there Internet facilities available E-mail Address on Institute	Yes			
16	Library Opening Timing	9 am to 5 pm			
17	CD's & DVD	223			
18	M.Sc. Thesis	143 PBBSc. 7			
19	B.Sc. Thesis	48			
20	Bound Volume Journals	62			

VSPM Mad Succession State of No. Digdoh Hills, Nagpur.